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(SITUATION RELATED PROBLEMS)
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uuin s alarméamer (EXERCISE QUESTIONS)

1. Sieory,

Aoy, &eofl, GLefL, meaQm
6T60TLIEUITER6IT IH6UIT LN60T HeuTa: LM ®
UT@SETDMITSHET. (LPSHEOTeUSHTS LI M B LD
BLBSS DB Feofl LTGSmIT.
seoLAwns  umr@uelt, eSS
SiBSS UTGSBITIT. FEQIT LPSEOMTEUSTHEILD
SenLAwnged UM_efleosmed. LNTLIESESLD
ST eys&D GewLuleo @revorGEUIT
UT@GBeTmesti. aeflled  HewLAWNS
LIMQUIGNIT WITT?

) ety
3) GLefi

2 dmy
4) Sevfl

Gsaim, 1SLLemT eflL 2 wgLbmesreur.
6160 GLOMSHEm6nT 6flL. G6TETLDITEuT6NIT.
eflL
GerTenLpmesteuit. LoHMILD efsioeur, i LewrL

Ganeflhs eflslveumeme
GuITed 2_WITLDTEsTENT S6DEM6D. HEUTHEIT
ODlemevTeu(hD Jleuserfledt 2 wiprhisgerfleot
SlgliLiemLufev BetTmmev, mHB6Ned BoLeurt

wI?
) Gnaetr 2) S
3) sflleveur 4) Ganeflbs

SpmBeo LUsssonerg 2 ullflwed
UsssSMme el
Gadulwed U555,
L5555ms6iL @Ceogneng. 2 ufifluwied
LUsssneng, Caduiwied L5555 60
MLEGE FODMETTH. W & 6 LD

8Ceosmenrg).
SunLwed

BCeo&Ment LISSSHID 6157

) 2_ulrflweo
3) AymiBeold

2) Gauduweo
4) SupNweo

g BLITS6T Gumemien SemfleudLileo
Betim) E\smevonieh&BesTmenT. Q-
eTesTLIeNT  R-6T63TLINHSHES BLG)
YMLDM& YLD, P-6T6dTLIOU(HE S
auegILDSIaID Bhdettpmt. O-eredTLIoUIT

1.

Anbu, Prabhu, Seeni, David
and Esha sing one by one.
Seeni sings after the person
who sings first. The person
who sings last sings after Anbu.
Esha sings neither first nor last.
Two persons are singing
between Prabhu and Anbu.
The person who sings last is

1) Anbu
3) David

2) Prabhu
4) Seeni

Sekar is taller than Peter but
shorter than Mohan. Govind is
shorter than Viswa and Viswa is
not as tall as Peter. If they are
made to stand in a row accord
ing to their height, who will be
in the middle?

1) Mohan
3) Viswa

2) Peter
4) Govind

The English book is lighter than
the Biology book;the Chemistry
book is lighter than Physics
book; the Biology book is equal
in weight to the Chemistry book.
Which is the lightest book?

1) Biology
3) English

2) Chemistry
4) Physics

Seven members are standing in
a line in an army parade. Q is
on the left hand side of R and
right hand side of P. O is on
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N-63T 6ue0gILDLDTSED P-8& SL&l
LmSSeLd BhdBettpmit.  S-eredtLI6uIT
R-68T 6ueoLILm&SeId T-5& S5
LmLD&eLD Bih&eitmi. erevfle,
auflengullesr HGeNe0 DB HLILIEUT

wImr?
1)S 2T
3)P 4)Q

aufiwpenn (efesrm eretor 5 - 9 )

A, B, C, D wihmib E er6trm 228
SpAflwirnget LNesteuHLOMM)
LIMLMBISH606IT SDLI&&60Tme6uTT.

(1) A womib B op8Gwni, eugeonmy,
b o
&GS esTmestiT.

Gleembuiluieo LD
&60011556MmS

(11) C wpmub B on&Gwint yeflufweo,
&6ewflsLD HMID OLITHeflled LML g&ens
&MLGSesTmeDTIT.

(111) D wpmib A SpSGwim
ewnnerfluled, euyeommy LDHMILD
S\eemLDUTlLIEd LIML G603
SDLNSBESTD6DTIT.

(1v) E wipmib D Sp8Gwint eugeommy,
yefMufweo LDHMILD
UMLSeDS  SDLINSS6Tm6UTIT.

e\um@perflwed

ECp Q&ET@saUULL demEsensd
wrpml efewLsefeSpBbea &iflwmer
siewLepwd BHHOS®.

5.  6bgL LMD Senersa)
Spdflwisemmeyid &OHLIISSLILGSDEI?

1) eugeommy) 2) yefuiwieo
3) elgsmuiwied  4) eunperfiwed

right hand side on N and left
hand of P. S is On right hand side
of R and left hand side of T. Then
who is in the centre of a line?

1)S
3) P

2) T
4) Q

Direction : ( Qn.No. 5 -9)

In the following questions, there
are five teachers, A, B, C, D and
E teach the following .

(1) A and B teach History, Civics
and Mathematics

(11) C and B teach Geography,
Mathematics and Economics
subject.

(111) D and A teach Economics,
History and Civics subject.

(iv) E and D teach History,
Geography and Economics

subject.

Choose the correct alternative
from given below alternatives.

5. Which subject is taught by all

teachers.
1) History 2)Geography
3) Civics 4) Economics
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6. erbs SpAflwn Slewests Ll
UIMLIBISEMEITLLD SHLNSS6STmT?
1A 2)B
3)C 4D

7. empaliumLbd D eretrueummed
SDHLIGSLLL6M606me0 ?
) yefMuTweo
3) ewmgrerflwed

2) GlgemLbuTulen
4) sewflgd

8. emsLUMLD A eretrLieumed
&DHLISSLILL6fM606me0 ?
1) eugeommy)
3) Glgemipuiluied

2) yefMuiwieo
4) ewmgperflued

9. E wihmib C Spdw @meunmed Qenewrhs
SDOLISSLILIBLD LIMLLD e18)?
) yeMuTweo LOOMILD EuFEOTM)
2) augeonmm) LDOHMILD EWLITHerflLied
3) ewunperflwed
4) ewngerflwed HMID Liefufwisd

LDHMILD &HewflgHLD

aufiapenm ( efleorm eretor 10 - 12)

SLDSHSHEWIL. 6UMESWIHISEMET SEUETTLDNSL
URsSsH Q&sTEssLUULL  eNeTsHsEhs S
eflemLwierfl.

&LDMIT, Wewfl, prgm, &&H6iv WHMID &5
SpBw wHg CuEBL FG eNenemumBAeTDETI.
g L G & er
QubmieTementi. FHpeTenT FILBHET GoemFUTED

€6UC\UMHLD O

2 _eiTeNTenT. GLDIIT eT6tTLIONT FSH6v6:& ST6tor(®
FL@HemeTuD, FH6v BTG FLBSHem6r
OMRNeY&@ C\STBHSETMETT. TIRm 2 FI(B&HED6NT

LD6w0fl&S ELIGEL: Tl 8 553
epeiTn) FLLBHEW6T GMHHSGLD O\STBSHSTOMIT.
10. WM MG HBSGL  FLBserfeor
6ET6VOT6TDT|EH6ME: 615,SH6M6TT 2
) 10 k) ORL 412
1. wewll ewasSmEGL — FL@seretr
ETEVOTETDT1EH6ME: 618,56M6TT 2
) 10 21 315 47

6. Who teaches all the subject?

1) A
3)C

2)B
4)D

7. Which subject is not teach by D?

2) Civics
4)Mathematics

1) Geography
3) Economics

8. Which subject is not teach by A?

1) History
3) Civics

2) Geography
4) Economics

9. Which subject is teach by E and
C jointly?
1) Geography and History
2) History and Economics
3) Economics and Mathematics
4) Economics and Geography

Directions (Qn.NO.: 10 - 12)
Read the following sentences
carefully and answer the following
questions.
Kumar,Mani,Raja,Sathis and
Sakthi are playing Cards.Each one has
9 Cards.Rest of the Cards are on the
table. Kumar gives two Cards to
Sathis.Sathis gives 4 Cards to
Raja.Raja gives 2 Cards to
Mani.Sakthi gives 3 Cards to Kumar.

10. How many Cards Kumar has ?

D10 99 31 412
11.How many Cards Mani has ?
910 21 315 47
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12.

13.

14.

15.

ongn  masSmaseh  FL@serfle
ET6TOTEI |60 615,56M6TT ?
719 2 20 39 D1

A, B, C, D, wpmib E eetrp g
{CED L QG auflengufleo
Slewwigererer. A eerp 6§ Cod
eueogLmnsab E && @Lgimongeb
Siewwngeengl.E eeirp ¢ B &6
@Lgymwrsed, B eetip i D &
SLHILDDNSHE|ID i 60 LD [b I 61T 61T & .
erevfled, HE@6flE0 Sewpwd 5@ 61817

DB 2)C  3)D 4E

A, B, C, D, whmib E Sp8Gwnit e
Bmémauiedo AHibgleenet. A
whoib B Simaméayb, C wpmib D
DN BHSHHANILD SHLDITTHGETETETTIT. DH6VITEV
D eretrueur E-ujLstr Sibgefevemev,
aeiestesfieo E etettueuit @maenaudest
8L 8 eusSeo Jiwimpgleterit. C
eTedTLIeNT 6UEGILMSSOBHS!
SresLneug SLFPeb A etesrueult

B, E & awginssab
S1BaGeuemeruieo C 2 L gmiib
iibglerem. eesfled, Aetr Bemeo
wng|?

7 B wiomib D-8@ SewLufsd

2 B wipmib C-8@ SenLuled
3 E wpmib D-6& @ewLulieo

4) C wppib E-s6 SenLuled

@b LsSMaHenass6T @ Genguiled
IIB&S emeusaLLL Bememerr. M eretrLg)
F etr Gwed wimiib H eretrugy Getr Sip
DIBsS emeussLILL Beeoigl. [ eretruig)
Ga® Guhypwnseyb | eesirug H-ebr
&S(pLD 2 eiTeng)l. ebhg LsSfaens
bBeflev 2_eierng)?

DM 2)F 3G 41

12.How many Cards Raja has ?
)19 220 o 41

13. There are five houses A, B, C, D
and E in arow. A is right side of
C and left side of E. E is left side
of B and B is left side of D.
Which house is in the middle?

1B 2)C
3)D HE

14. A, B, C, D and E are sitting on a
bench. A is sitting with B. C and
D who are sitting with each other.
But D is not sitting with E. Because
E is on the left corner of the bench.
C’s Place is second from the right
and A is rightto B and E but A is
sitting with C, then find the position
of A?

1) Between B and D
2) Between B and C
3) Between E and D
4) Between C and E
15. Five magazines are lying in a Table.
M is lying on F and H is lying under

G. F is lying above G and I is lying
under H. Which magazine is lying in

the centre?
M 2)F
3)G 41
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16. eabg GuIiT @@ euflensuded Bettmy
e\EmeTgmhESetimenti. B erettuieur
C-8& @Lsymwrs Bpderpri. D
erevrueu E-8@ eueogiLmionss Bodestom.
A estrueui B-&@ SLgimons Besimrmeo,

BGefled BH@SLD BLIT WimT?
1)D 2)C
3)E 4HA

aufigpemm : (17 - 20)

A, B, C, D, E wimib F ertrm Spmi
Gurr 2 eiteeori. Ceretrueuit Fetr sGang
Speunii. B erstruenrt Eetr & eworeurfetr
gCangrt Speuni. D eeirueur Aedr
sHosWd Fer gngsmeb peuri.
BB SHEVSHEBLD, APEITDI
FCHNBIMSHEBLD, (B SMULD Di&HESpefled

2 _eiTereuTiT.
17 A5G Wwsiled 2 eitern 6\ L1607
2 _minfevriseit ?
HE,A 2) E,F
3)ED 4) E,C
18.  DISHGW6N6d 2 6T HHENSWITSHET?
1)A,F 2) A,B
3)A.D 4) A,E

19. D& Weiled 2_6iTe D600
2_mitndesrisefletr erevorevoilgemss.

)2 23
34 4) 5

20. SLD&&H6EWIL 618 FRHNSTTSHEN6ITE: 61GT6ToTL
SWMeUsS SNHEDSI?

1) ABF 2) ABD
3) BFC 4) BDF

16. Five men are standing in arow. B
is on the left of C. D is on the right
of E. If A is on the left of B.
Which man is in the centre ?

1D 2)C
3)E 4)A

Directions : Qn.NO. (17-20)

There are six persons A, B, C, D,
E and F. Cis the sister of F. B isthe
brother of E’s husband. D is the
father of A and grand father of F.
There are two fathers, three brothers
and a mother in group.

17. The Female members of the

group are .....
)E, A 2) E,F
3)F,D 4) E, C

18. The fathers present in the Group

are .....
1)A,F 2) A, B
3)A,D 4) A,E

19. How many male members are

there in the group?
1)2 2)3
3)4 5)5
20. Which of the following is a group
of brothers?
1) ABF 2)ABD
3)BFC 4) BDF
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(Situation Related Problems - Sitting Arrangement Problems)

BEUEIMSHS HEWHSSH6T, GMILLILL HUTSHT eulL eugaunsGeur, aiBnnesGeur / GrICsMIpGeom
SIDMBIHHGLD uensHulled GNILILSH6T OSTESHSLILLRIHESHSD. HSSOILILUSmaT LWeTUBSS
Dl DiESHESSD BLems (Position) ssauLminbg), sleamssepseiu eflenL e
Geuevor(BLD.

S5 emiLiL|
B600TESHSH6IT
|
| |
THOIHCT JALDITH6D QUL 6U1Q616D SLDITSHE0
— 2 _6MCBNEES SHLDITFHE0
— ceuefiGBnad iigeo

) ailL eaugefled 2 6T@HNES lDITGHED :

auflpemm :
) Seucuemauied (wpsedled auLLD euemnmbg Ca6Telltd SSHSTDHELTED eUaILLEH0 6 Di6v60g)
5 BLIMTSH606MS GSNISHSLDMM| FLD Siee] SevLeeuefl Semujbnm HbLsSH SL Ceuetor®BLD.

) efemefled O&EMESHSLLLL S&Heuevs6 60 GLLILISSEIDNS / UEOLILESHIDNG 6ITERID auensuiled
Stewwns eMlemu (CLUE) wseleo uweauGss enssGasn®h. Wererm anhserGe
SMIBSLILILL GMILLS6fled 2_eTer BLITSGETT® S\SMLITLEDLW GSNILIEHL SI6TTLTeNS T8 LIWITLIBGSS
Geuevor(BLD.

2) Wetrentt 9D GSMILILSHED6ITL LILGTLIBES Cevetor(®LD.

3 SibyseHlwneng 2 miseaflLd Smbg LDLILEGLD euensuied 2 smar GUING 2 _MhiSH6T 61605
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mSLDD, BLG MSLDID, LILESH6D 2 6iTerm HLTSH66NT (PpemmB 6uedg WHMILD L&l LDLDTS

HemLDU]LD.

4) @eaieeun@ BULS®GBHSID WhHDaITsEeT sRaEnT Havsuled @Lg LDNSaD, 1Sl SamT

Semgufled 61608 LIDIDMSHOYLD HLDITTHGH SIBLILIIT.

adIm ST Hew&

S&MT HenF

Er.am:

A, B, C, D, E, F &8Cunm auLeugefled Siwibgiemeresti. D wbmib C -s6 QenLGw B
Sibnpgletenni. E wpmib C & SewLBw A dbnmpgletenni. D -6& eueoliusssdeo F

SIDITBGIETETT 6T6vfleD,

) A -8, F -5&0 @enLulled SiDimbgeTereut wimi?
P)E 99C 3D 9B

2) C -8® CmiT 18T JIDMHGIETET6UT WITT?

) F 29 E 3D HA
3) A -5@ eueogILDLD SILDITHGI6TETEUIT WIMT?
) C 2 E 3B 4 F
4) E -5@& SLUu&SID JIDhGIETeTeuT Wim?
A 2B 3 C HF
eflemL :
Step : 1 Step : 2
A, B, C, D, E, F &p8Gunit D- 8@ sueoliLsgag860
QUL 6uQ6fled SHDMTbGIeTerT6DTT F sionmgeremm
F
D
BLUILSSLD / 6U60LILISS DTS
WPp560l6b QUL LLD euemBHS) STEITDEUMD) HHEMLDIBS GSMILIemLI
2_6TGBISHACITD) SHEWLDIES B5ITH6\5B5saLD. GLoay|LD,
6 LGS SHEm6T FLD ECLp 2_siTerm JHDLH@MUTE0
BemLeeuafluded euenrbg BmhE SpIbLisgmed
C\GITETEITE)LD. &pLLLSletTn) eflemLwerllgas
Swey|Lb.
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Step: 3
D- wpmib C -6&
BeLGw B Sibrbgsitemi.

D

BrevrLeug) GMLILL 65T
QSMLITLeMLI GSMILIenL

epeTDNEUSTS CHITHEHBEHSHLD.

8@, W60 GMLLled

Step : 4
E wppib C 66
BeLGW A SALDIHGIET6IT.
A
C E
B F
D

Snidwins, Bswpsiter GMiLienLL
LwetTLGSSeLD. LledteotiT
sfleormeHBa L efMemLwerf&saLD.

D wimib F eurbgeieng.

SaSSMD O&N6TS : Db dGHHSHTG SHEWHMSL CILIN([HSHSHEUDTUNED LDIT6T0T6UT S 6iT
asefleuns Ufibg Osmetashans eeeanm SHULNDGL SeflgsealGw LLmissT euennbg
eNeT&HSLILILBETONG. SpevTTeD, LDMEIMSSTH6T QG LLSH0 Dienersg s SMLILSEDaTL|LD

UweTU@SS euenrw GeueTBLD THTLINS HeuendPed G&meitem GeussorBLD.

) A -8, F -h@&b SewLCw Jibibgjeitemeur E.

9 C -5 Cmit G JinibgieTeneur F.

3 A -8 eueogILmID JbiibgeTereur C.

4 E -8& SLSILMID Sibiibgienereut F.
(Eue0gILMLD / SLEILMLD 6T60T 6M6TTIT HEWLDIBSITEL, HDLSSMemW 2_MmiserfL LB LDLILIGLIM)
mEUSG, 2 misefler eueogl, BL& w&&H6T JDLSSOUl6T S Lprseailaib eneuss eueog),
8Lgl Upmsener eterflfed sevorLnjluleor)

a3a786r Dlevevgl CHTGHTLIEL JIDITHED :

BeUCUMSES HEHGSSHETIED RIHEUHSESMHEUT 15OTSITHEGaT DHevevs @G eurflemwauiGeor
DB HHGLD umsHUiled GHILILSET OSTESSLILLIRHBHGD. HSSMILILSmT LWeTLUGSS
SHQUTEH6T ADIMTTHBHHSGLD BLEHENS SHEULMBEI, cMerTn&sEnHsG W eflewLenww smevor Geueior(BLD.
E.am:) SC O&MGSsILLGsTT efleuTrhisHener SHeuesTDNSL Lipgg) LeiTeudhld efleurmaaens:a&
eflemL werfl&&eyLb.

) A,B,C, D, E F G wbhywb H SpBCwnt euflenssd 4 Gui eiisb @m auflensseafieo
SILDITHSI6TETEDTIT.

2 A - eredrueu E -8@& penevsflL ei8anss SiLDAHSI6TTIT.

3 D - etetiuieurt H -86@& e10mas SHLDITHGI6IT6IIT.

4 D - 8& 2 Letng aueogILmsHe0 C - HDITHGIET6ITIT.

5 F, H, E - S48Cwnit @G eurflenguflev ibiibgeimermestit.

6 F - 6t @L&ILMID B -Siniibgjeitenit.

7) C, F -a186\0880 SiIDIiTbg6ITereotit.
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21. GBS FRMESHET - BHHMS HMIDLIL| HEWTEHSH6T

) A, E 2556117 cLpemevsiil'L&360 SHLDITHSI6TEIT BLITSHET
) C,D 2) B,G 3) BH 4)D,B
2) E -6t1 GBI 61HCT SiDIBGI6TemeuT?
) B 2) D 3) F 4) G
3) C -60T euevGILIMLD SALDIHGl6ITETEuT?
)D 2) A 3) G 4) E
eflemL :
Step : I
A, B,C, D, E, F, G whywb HREGwn euflewsss 4 Gui sigb wm auflensseafied
SILDITHSI6TETEDTIT.
aHOIHCT SewW|bm)| euflenssE 4 HDLSSMS6T euenrwl GeussorBLD.

Vool

Step : 11
SLSILDLD / 6U60GHILDLD ETETMEUTH) HEWLDIBS
SMILILSHEH6T @6sTenmL LWETLGSS Geuetor®Lb. I Ll L
(pseded Speuflemauiisd SmpHE DHILDLNGES
GeuetoT(BLD. (B Fl6v LIS EHEHE LedTeurT T N S
GzemeuLiLigedt GLD6d aurflewss@ MHMNE B F
6)SIT6ITEITEITLD)
F -651 @L&ILMID B -Siiprimbgeiremmit.

Step : III
Step - 11 2_Le6tT \SMLITemLW GSMILIL|SHemerT
SIBSHS LIWeTLIBES60MLD.

A C D G
A - er6tTu6NT E -8@& (pemevsiilL 61808 HLDITTHGIETEITTIT. Vol
D -etstig) H -8& 61808 SIDMHGI6TETTIT.
D -&@& 2 L6t eueogiLnsHe0 C —SALDITBGI6TeNTTIT. ]2 ; IZ ]T:

F, H, E - Q808w @G eurflemwauiled Db I6Temsuri.
F 651 @L&ILMLD B -SiDMBGl6iTermit.
C, F -ei80188 iDITHSI6Terest.

) A, E -25561 epemevei'L 560 SiLbrbglener pUi&seT : B, G
2 E -eb1 Guim 615G SiLDMHSI6Tereurt : G
3 C -601 6UeOGIL|DLD SILDITTHGI6ITEITEUIT. tA
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21. GBS FRMESHET - BHHMS HMIDLIL| HEWTEHSH6T

uuima samdBHaber (EXERCISE QUESTIONS)

auflepemm (efeorm etevar : 1 - 4) SPSHSTEILD
Saeuevs:afleir AlieLiLienLufed efleuTma:s6iT 1(Lp&ed
4 euewy efemLwerflg&H e Lb.

SNBev6iT, [BEvEU6HT, EUETEU6HT, (LPSEV6IT, 6fLDEVEDT
WOMID WIMmeT SpBCWT UL  eulgsflev,
FDGMISHO RMHEUHT OWNGBEUT UMTHS
6UETITETOTLD HLDITTHSIETEIT6UTIT.

) wdeverr, aenamsEd GBI dHITsHe D

LDHMILD SLu
SUETILTEUSTE D_6TerTmiT.

6f1LD60 67)|5 S U&&IDNS
2) MPenIs& it a1HBT Beveustt _siterit.

3 SBoMES UOLILSESESHED  (LpBHevedT
2_efTerm.

4) eflbeoenIsHE SiHB6 [BeveuetT JipTeflevemeo.

) efbeoasE SLULSSDNS ADAHSHLILIeT

wIm?
) wmmesr 2) euemeu6dT
3) Beveuett 4) Sidevedt

2) aueTeusn)I&HE& EUEOLILISSLDNS HLDAHSBLILISUT

wIm?
) eflevedr 2) Sidevedr
3) Beveusdt 4) wpBevetT

3 WPpBeomsGD, 6NbeOE&HGSLD SenLuied
SIS BLILISUT WITT?
) S18evetr
3) mmedt

2) euereuett
4) e16)(HLEI6LENED

4) Sifeverlleo QapHBEH SRSMILD  &HMID
Sewauledo AHIHHBLLST PpenmGW?

1) pdevsetr, bMMedT, 6flD6VEDT, EUETEUEDT,
Beveuett

2) Beveuedr, euemeuedt, 6flDev6T, LDITMEDT,
wp&evedt

3) wdeveir, [Beveuedt, eflD6v6sT, cueTEIET,
LDITM 63T

4) bmmedT, eueTeuedt, eflpevedr, Beveusdr,
pevedt

Direction : (Question No. 1-4)

Based on the given information answer the
question 1 & 4.

Akilan, Nilavan, Valavan, Mukilan, Vimalan
and Maran are sitting in a circle facing the
centre.

i) Mukilan is sitting opposite to Valavan and
second to left of Vimalan

i) Nilavan is sitting opposite to Maran.
iii) Mukilan is sitting to the right of Akilan.

iv) Nilavan is not sitting near Vimalan.

1) Who s left of Vimalan?

1) Maran
3) Nilavan

2) Valavan
4) Akilan

2) Who is the right of the Valavan?

1) Vimalan
3) Nilavan

2) Akilan
4) Mukilan

3) Who is sitting between Mukilan and
Vimalan?

1) Akilan
3) Maran

2) Valavan
4) None

4) Who are sitting in the clockwise direction
from Akilan?

1) Mukilan, Maran, Vimalan, Valavan,
Nilavan

2) Nilavan, Valavan, Vimalan, Maran,
Mukilan

3) Mukilan, Nilavan, Vimalan, Valavan,
Maran

4) Maran, Valavan, Vimalan, Nilavan,
Mukilan
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21. GBS FRMESHET - BHHMS HMIDLIL| HEWTEHSH6T

aufiapenm : Eleorm eteior. 5 - 9) Sp&SETEYILD
Saeuevsafler SlgliLiemLuiled eflewLwiefls@Lb

oW, eflwim, &revorwin, Smefiwim MHMILD
Sevflwm aur'Leuigefled SiprbgeiTenesit,

) @eflwneys@d, FretoTWNEySHSLLD, GemLuiled
JDWIT SIDITHG| 2_6iTerTiT.

2) sneflwneysd SLULSSD el SiDIHS)
©_6iTeITIIT.

Qelwne s 6U6LLILIG & LD
CLPEITDMEUSTE: _6ITONTIT.

3 gwwm,

4) speuLNeH& SLULSSD STeflum SiLDAbE)
9_e6iTemi.

5 rbwWresGL, elwne&s&@h SenLuled
SapLiueur wmi?

2) ameflwim

4) e16u(HLSILENED

) egevorwm
3 Qesflwm

6) BevfluneysE 2 Levrlg euedLILISSLD GHLILISNT

wI?
) smeflwm 2) gwwn
3 &gevorwim 4) eeflwim

7) @elwneys@, FIETWMEsS@SLD SenLuiled

SmUueun?
) @evflum 2 smeflwm
3 mwr 4) e16u(HLSIVENED

8 rbwWme6@ eILLSSD BIErLTealsTs
SaUueur wimm?

) @evflum 2 eeflwm
3 aneflwm 4) Fgevorwim
9 smeflwneflLs BB SL8| YmLb

2_eiemeuseriledt euflems
) &gevorwm, mowm, Gesflwim, gefuim
2) eeflwm, Gevsflwim, TLowim, Fyevorwim
3 ggevorwm, Qevflwim, mowim, eeflwim
4) eeflwm, powim, Sesflwim, Fresorwim

Direction (Question No : 5 - 9) Read the
information carefully and answer the following
Ramya, Oviya, Saranya, Kaviya and Iniya sit
in a circle.

i) Ramya is between Iniya and Saranya

ii) Oviya is immediate left to Kaviya

iii) Ramya is third to the right of Oviya.

iv) Kaviya is left to Saranya

5) Who is between Ramya and Oviya?

1) Saranya
3) Iniya

2) Kaviya
4) None

6) Who is immediate right to Iniya?

1) Kaviya
3) Saranya

2) Ramya
4) Oviya

7) Who is between Oviya and Saranya?

1) Iniya
3) Ramya

2) Kaviya
4) None

8) Who is second to the right of Ramya?

1) Iniya
3) Kaviya

2) Oviya
4) Saranya

9) The sequence of persons from the left of
Kaviya
1) Saranya, Ramya, Iniya, Oviya
2) Oviya, Iniya, Ramya, Saranya
3) Saranya, Iniya, Ramya, Oviya
4) Oviya, Ramya, Iniya, Saranya
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21. GBS FRMESHET - BHHMS HMIDLIL| HEWTEHSH6T

auLflpemm (efeor erevor : 10 - 14)
A, B, C, D, E pmmitb F SpBGwimt euL’L Goem&uiled
6 (H6U M T 6 WIT([H 6T LITIT &8 61 6507 600T LD
SIIDITTHGI6ITETEDTIT.
) C etedrueui A WHMID E & SewLufed
2 _eiTerTmiT.
i) B eredTLIEUIT D LDHMILD F 8@ emLUT6d 2_6iTerit.
iii) E ommib D CrbiT 615G 2_siTerenTit.
iv) B &@& 2_Levrg eueoLiL&aLD F o _srermm.
10) C 5@ 2_L6vTlQ 6)60LILIGSHLD QIHLILISUT WITT?
DA 2)E
3) D 4)B

11) A @& eueoLImLD QIETLTEUSTS D 66Ut

wImm?
) D 2)B
3) F 4)E

12) B &@ Gt 61T ShLILIGUIT WT?
) A 2)E
3)C 4) D

13) F && CoiT e1Gr SpLLI6NT wm?
)D 2)C
3)B 4) A

14) E 6@ 2_Le6vTp SLLILIGSLD _6Termeut Wmi?
) F 2) C
3) A 4D

auLflpemm (efeor erevor : 15 - 18)

Q&HMB&SLILILL 8LDBemevsEhsH& 2 L LIL® sfleorT
6T6001.15 (P60 18 euem eflewLwiefls&eyd. A, B,
C, D, E, F Sp@Cumm
SIDMhGI6TenestT. B Shevreu F pHMID C &

aIlL  6ulgefled

SeoLulagd A Spevreuim E wpmb D 5&
SemLuleyid, F Spevieu D 6@ SLLULSSHSHID

SILDABGI6TeNTIT.  eT6vfl6v,

15) A &L F &L GewLuled Jibibglemereurt

wImr?
) D 2)B
3)E 4)C

16) B &@LD, C &G0 SewLUN6d SLDITTHI 6TerTeurt
wm?

Direction : (Question No: 10 - 14)
A, B, C, D, E and F are sitting in a Circular
table facing each one.

i) CisbetweenAandE

i) BisbetweenD andF

iii) E and D sits opposite to each other
iv) F is immediate left to B.

10) Who is immediate right to C?

1) A

2) E
3) D 4) B

11) Who is second to the right of A?

1) D 2) B

3) F 4) E
12) Who is facing B?

1) A 2) E

3) C 4) D
13) Who is facing F?

1) D 2) C

3) B 4) A

14) Who is the immediate left of E?

1) F 2) C
3) A 4) D

Direction (Question No : 15 -18)

For the given situation, answer the questions
15-18. Six persons A, B, C,D,Eand F are
sitting in a circle. B is between F and C ; Ais
between E and D ; F is to the left of D.

15) Who is between Aand F?

1) D 2) B
3)E 4) C

16) Who is between B and C?
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21. GBS FRMESHET - BHHMS HMIDLIL| HEWTEHSH6T

A
3D

2 eI6u(IBLII6LEM6D
4 E

17) E & 6u60LILISSHLD SILDITHGI6TENeNIT WIii?

) A
3)B

2)C
4) D

18) E 6@ SLLLSESSH60 SDITHGI6TeTalT WImi?

) A
3)B

2)C
4) D

A, B, C, D, E, F &p@Gunim eu’L euigefev
SIDMThGl6TTerTevti. A eterLieurt D ulledr Groit et @
SIDITBGI6TeTTT. A HMID B &G0 GewLuiled C
SiDITBgIeTeTmT. E bHmib A &&LD GewLudeo F
E &6

SIIDITH G| 6TETITIT. F  Spevreurt

SLIL&SSSQID IDIHGI6TETEUTT.
19) B 6@ SLLILSSID HLDITHGI6TETeUT WIi?

)A 9 C
3D 4)E

auPpemm : P, Q, R, S, T SpBBWIMT eul'L euigefled
SinpgleTerenii. T uler SLgLDD R

SIiibgleTarnii. S HMID T && BewLufed P

SIIDITHGIETETIT. R && SLUU&GSID
SIDITBGIGTETENT WIT?

)P 2)Q

3)S 4HT

auPlpemm (eflevrm erevor : 21 - 23)
2bsl
OpAflwpLetr @@ eulLbmenr GemFufed

LD IT 6007 6 IT & 61T AHaUM&EHeML W

gwren QewLeleuaflulied Db g6TeTeorii.

&1D& &ME)LD efleumi & emerLi L8 &l
GaLsLIUL@eTer eflevTT & & EhH& G
eflemL werfl&&eyLb.

a) gmb eredrunit gamib ereirunilesr CoiT ar&GT
OMID TG0 ETTUMHSHE 6U6dG LMLIDTS
SrevuLneug) BLS5H60 SIDHSI6TETIT.

b) oniesr ersdTuNiT oG STETLUNHSS GBIt
1@ LDMHMILD CI&6IT ETEITLIN(HES 2L 63Tl B &

1) A 2)None

3) D 4) E
17) Who is rightto E?

1) A 2)C

3) B 4) D
18) Whois left to E?

1) A 2)C

3) B 4) D

A, B, C, D, E and F are sitting in a closed
circle facing the centre. Ais facingD. C s
between Aand B. Fis between EandA. F
is immediate left of E.

19) Who is to the immediate left of B?

1) A
3) D

2) C
4) E

(Directions : Qn.No.20)

i) P,Q,R,SandT aresittingin acircle
facing the centre.

i) Risimmediate leftof T.

iii) Pis betweenisSand T.

20) Who is to the immediate left of R?

1)

= 2) Q
3) S

4 T

Direction : (Question No : 21 - 23)

Five students and their teacher are sitting in
a circular table at an equal distance. Read
the following instructions and answer the
questions.

a) Ram is sitting opposite to Rahim and at
two places right of Rahul.

b) Robin is exactly opposite to Rahul and
immediate left to Rohan.

26)
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LDSSaID SHIDITHSIETETEOTIT.

C) Seansaflesr pAMwpner pGwep 6L
Gensufled SNLDMTHGIETENTIT.

27 gmb womib Crnseir B(HEU(HEGSeMLUNED
SADABSIHLILIGUT WITT?

7 opm9edr
3) mn&eo

2) pGuwei
4) Tamib

22) gD eT63TLIMT SHLDAHGBLILIGI?

) pGwefsr GLgiLmd

2) omietrevfledr euevg) LmLD
3 mmietresflett L& LmLd
4) gamlb - 65T 61605 LLD

23) pGwelp WOHMID Famid GHdabedhHeESLWD
Gwensullelr enWSSN[HHS 2 siterm Gsmevor

Slerey?
) e0° 2 120°
3 90° 4) 180°

auLflpemm (efeot etevor : 24 - 28)
&G
SEUEUTLDNSLI LIgS | LesTau(bLD 6060158 EhHSHE

A&MTBSHSLILLGB6TOT  6fl6)T & ener
eflemL werfl&sa)|Lb.

i) A, B,C, D, E pmib F erettm SpmiBuit
aflmsse 3 Gui 6igb m euflensuied
SILDITTHSI6TETERTIT.

i) D erétTueu C -&@& epemeveilL eTHINs
SILDITHGI6TETIT.

iii) B eT6dTLIONT E &S 6THINE SLDITHGIGTONTITIT.

iv) E eretrueum A &&W C &G SewLuled

SALDITTHGI6ITEITTIT.

v) B 60T 6ue0gILIDID F SALDIHGI6TETITIT.

24) D wHmIb C 85 6 cpemevsiiL adHTns
SIS BLILIGUT WITT?

c) Ramesh, theirteacher is also sitting at the
table.

21) Who is the only person sitting between
Ram and Rohan?

1) Robin
3) Rahul

2) Ramesh
4) Rahim

22) Ram is sitting to the
1) Left of Ramesh
2) Right of Robin
3) Left of Robin
4) Right of Rahim

23) The angle subtended by Ramesh and
Rahim at the Centre of the table is

1) 60°
3) 90°

2) 120°
4) 180°

Direction : (Question No : 24 - 28)
Read the following information carefully and
answer the questions given below :

i) SixpersonsA, B, C,d, EandF are sitting
in two rows three in each.

ii) D is adiagnoally opposite to C.
iii) B is opposite to E.
iv) E is sitting between Aand C.

v) Fisto the right of B.

24) Which of the following are sitting
diagonally opposite to each, other than D
and C?

a2”n
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) B,C
3)E,D

2) A,F
4) A,D

25) C &@ Gt 61SIms GHLL6UT Wri?
) A 2)E
3)F 4D

26) @reoor® eauflensseafleo gB@send @CT
auflenguiled SHDITHGHIETETEUTSHET WITT?

) AEC 2) D,B,C

3) KE,C 4) A,E.B
27) 196576 (H6) 60T 6 DM 6T W @Cr
eurflemguledpLILIeuTS61T?

9 D wibmub F 3) B wimib E

3 D wipmib A 4) F wipmb C

28) B bOHMID E SHeudBD ShseT SLIHDS
DTNl E\HTETITLITEL E & 6U60GHILIMLD 2_6iTerenT

wImi?
) A 2)C
3)D 4) F

aufiwpenp : (sfleorm erevor : 29 - 30)

A, B, C, D bpmib E S4BCwmit ep eurflemwmsuded
SILDITIH GIETEITEDTIT. A elebTUeuT B  edr
aI6e0GILDIDT& YD, C eT6iTLoNT E -5 SL&|
-6@ 6UE L DLDM&E)LD

SIIDIHGI6TETIT. B -eT6dTLI6UT D -63T 6U60GIL|MLD

YmWLISe A
SILDITTHGIETENTTIT.
29) HB6Med SADIHGISTOTeNT WIT?

) A
3)D

2)B
4)E

30) 88l LUneSOlGhHe SuevLeag SLse
SIDITTBGIETETENT WIT?

) E
3) C

2)B
4) D

1) B,C 2)AF

3) E,D 4) A,D
25) Who is facing C?

1) A 2) E

3) F 4) D

26) Which of the following are in one of the
two rows?

1) AE,C
3) FE,C

2) D,B,C
4) AE,B

27) Which of the following are in same row?

1) Dand F
3) Dand A

2) Band E
4) Fand C

28) If B and E are interchanging their
positions, who is the right of E?

1) A
3) D

2)C
4) F

Direction : (Question No : 29 - 30)

There are five friends A, B, C, D and E sitting
in a row Ais to the right of B and E is to the
left of C and right of A. B is to the right of D.

29) Who is in the Middle?

1) A
3) D

2) B
4) E

30) Who is in second position from left?

2) B

1) E
3) C 4) D

29
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21. BMOE HWBSHET - QUGS &ETINEHESSH6IT

21, 81156060 8856001 8> G 8 61T - QUG 8> 856001 &> 85611

(Situation Related Problems - Age related Problems)

Beuamss HWIHGSSHHT R(H GOIULILL aSLTLenLW Np muisefle euwenss: e\&menr®

sflevreflih® L SuiN&emnflls FLDETLIML ML HEMDSHGLD (LPeDMENW! LI6STEUHLD SITETOTEOITLD.

SOUALL BUM6T auLImEs SHETTLAILILD euemaUTed HEMIDWILD. B6U6UDSHE: HETTSHSHEM6NTS ST,
ererfllu Quihseullg FD6TUM ML HewDs:s ASMHEDH MBS0 L& Sieuduib.

efeormefed OSHTGSHSLILIGLD Loy AW\ Lp&HLD Bwibhsenfls swesTUT®
&LprBemeo ENenss551L 600
A -6t euwigy B -6t euwidetr B -6t1 euwgy = X A -6t euwigy = 2X

2 LG eTesfled, A -6tT euwig?

A -6t gy B -6t euwiens
6flL 2 IDLIEIG AHPSLD eTenflev,
A -6t1 euwig)?

B -6t euwgy = X

A -etr euwig = X +2x

A -6t cuwgy B -6t euwiens
6L 2 DETBH6IT / cpdGHeult
ereufled, A -6 6uwigy?

B -6t1 euwigy = X

A -6t euwg = X + 2

A -6t gy B -6t euwiems
6fiL 2 ETBH6T GOME)| /
Sewemwieurt eresfled, A -65T euwIg?

B -6t1 euwgy = X

A -6t euwigy = X - 2

A -6b1 euwgy B -6t cuwneo
2 IDLMIB60 2 HB&LD eT6nfl6n,
A -6t uwigy)?

B -6t1 euwgy = X

A -6t euwg = 2X + 2

A -6t euwigy B -6t euwigeo
2 LRI 2 Genme) eTevfled,
A -6t uwigy)?

B -6t euwgy = X

A -6t euwngg = 2X - 2

A -6t euwig B -66r euwigeo
ung eresfled, A 681 euuwIg)?

B -6t euwgy = X

A -6t euwig = X/ 2

A -6t cuwig B -6tr suwidled ungudeo
3 LM eT6fled, A -68T euwig)?

B -6t euwgy = X

A -eir euwg = 3x/2

A -6 6uWIg) ELPETM) CUBLIRISEHSHS
apeiry B -etr euwdled 2 oL eresfed
A- 6t HBLITEMSIL G| 6T65TE0?

A -6t g = y
B -6t1 euwigy = X

A -6ir gHGLMEDSW 6uwig) = X

y=2(x-3)

A -6t1 uwig) ST6T0T6 CUHLMISHEHSHES
apeiry B -6t euwideo Lind, eresfied
A- 6t HBLITEMSIL 6ULIS)| 6T65T60T?

A -6t euwig = y
B -6t euwgy = X

A -6t HHGUTEDSW CuwIF) =

_x-2
Y=

29
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@.sm: )
SHEDSUNET UG SleUTg Eevllen auengLIGLITed 5 IDLMIG, 5 QUIBLEIGEHHS wLPedTL
SHEDSUNET Qug), D&evlletr euuwengl GLImed 10 LDLMIG. eTevfled HHELINGI, HHenSHUT6T euuig)?
)42 2 43 3 44 4) 45
eflemL :
LD&6vfledT euwIgH = X
SHEDGUNET euwg = 5 X
5 QU(BLMISHEHSES SHenSHUller euwig), aevfler auengL GLimed 10 LDLIkIE 6T63TLISIT6D
= 10(x-5) =5x-5
= 10x -50=5x-5

=x=45/5
=x=9

SHeLNE shewsuler awg =5 X 9
(5x) = 45

E.am: 2

&Loriflesr UG Sieurs) Ls6uflesr auwenSLIGLITEd 5 LDLMKIG. 4 eUhLHEISEHhSSULIDGS, e
awgsefler saBgeo 68. eefle, HHBLING DS6Ull6T euUIg) 6eT6dTenT?

eflemL :
b&evflett HHELMEMSIW euwigh = X
@wrflesr HCUTMSW euwg = 5 X

4 eBLHEISERSGSL LNIDS
Gx+4)+(x+4)=68
6x +8 =68
6x=068-5
6x =60
x=60/6
x=10
pa&evfledt HHELMMSW 6uig] = 10 ShevTBSH6IT

(130)
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uuima samdBHaber (EXERCISE QUESTIONS)

1. gmapefiett auwigmeotg) Camipeilest auwISemeoTLl
Guneitm & WLMIG. CFmupeflei auuISTeoTs)
Gamusfiletr auwHed UMH SpGW. GEYLD,
Gamuefletr euwigy Camupeflesr euwiHeneor efl 10
QIBLMIGET P& ereflleo Gamep LHMILD
Gamyefilett euwig 6T WpedMBLY,

95,10 2 10,20

3 10,15 4) 20,10

2. @wnifler auwg Sleuns FGsnglenw el 5
IDLMIG SiPsD. 65 Ceueneruisd s@Gsnsf
ST AHeurg FGHMsIe nmHene el 2 auwig)
Sememwieur. gsefledr euwig) 10 erevfled, @Lomledt
6UUIZ| 6TEOT60T?
) 56
3 40

9 42
4 35

3. shemsuler awg smuiler awens eflL 8
OpEWIBSH6T IHSSHLD DOHMILD SHTUl6ET CULISTETTS],
& 6sfletT auPed 4 IDLMIG SpG&D. SHBUNE)
D&6fl6 auwIg 8 SpeurB&H6T erevflev, LAMBS
SHDSEES
BOBHSHSSID?

) 32 SyevBs6T

3) 40 SpeT@aH6iT

Gurg, 6T 60T 60T QWSS
D) 36 ST BH6T

4) 35 6016

4. A -Wer g B -wletr ewwens el 2
Sy ® 6T HBab. B -6t euwig) C -6tr suwied
8 wLiug.A,B -ppmib C SpBCwimesr
auwgseflel saBse0 27 eubLThis6. eeslleo, B
-60T WG| WITG)?

) 7 sumLmis6T 2) 8 eU(BLMmIG6T
3 9 aumBLMmISET 4) 10 eU(BHLMBIS6T
5) pG@we WHMID eNCeTTSI 6T 61wl g) s 6rl6dr
s 4 : 3, 6 QBLHSERSGU LUIDSG
gGwefler awg 26 awsTs BHHSTEV,
6fiGevg FHHBLTEMSWI 6ULIG)| 6T65T60T?

) 1 2 15

3 14 4 13

1. Ramu is twice as old as Somu.Somu’s
age is half of the age of Gopu. Moreover,
Gopu is 10 years elder than Somu. Then what
will be the ages of Somu and Gopu
respectively?

1) 5,10
3) 10, 15

2) 10, 20
4) 20,10

2. Kumar is 5 times older than her sister
Latha who is 2 years less than her brother
Raghav. If Raghav is 10 years old. Then
what will be the age of Kumar?

1) 56
3) 40

3. Father is 8 years older than mother and
the mother’s age is four times that of the son.
If the son is now 8 years, what was the age of
the father when the son was born?

1) 32 Years
3) 40 Years

2) 36 Years
4) 35 Years

4. Ais 2 years older than B. B is twice as
old as C. If the sum of the ages of A, B, C be
27 years, then how old is B?

1) 7 years
3) 9years

2) 8 years
4) 10 years

5. Ratio of Ramesh’s age and Vinoth’s age
isequalto 4 : 3. If Ramesh will be 26 Years
old after 6 years. The present age Vinoth
is?
1) 11
3) 14

2) 15
4) 13

asn
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6) amndefluienr sHenguler awg ST
sGangrefleir auLIMSLIBLITED G(HLDLMISTGSLD.
Slest Heurg FCHEMHTENen 6flL 7 QIEHLLD
SEWEMTLIEUET. Dh6oTTEL Jluens FG&HNGfenw
6l 3 SpTBSH6T epSHIHEUET.  Sleueng)
sGangfulesr euwg 1261wg s SHHSTED,
Si66E) FHHEDSUTEST UG I6TE0TE0T?

) 30 SLET@HET

2D 44 SyEES6T

3 45 ST BH6T

4) 50 peIBH6T

7) g&dleit lewflemevr 6L 4 OpevorBSH6T
s seueT. @eurser Ganeuflenr euuig)serflesr
FaBse> 20 erevllev, Fgdlevllett FHELTEWHW
6UILIG;| 6T6DT60T?

) 14 eugpLmS6T 2) 12 euHLMRIGET
3) 16 euHLMmIGET 4) 18 eU(HLMBISET
8) elelTERIEMLW EUWIG, 66 SHensulledr
QIWEMSLIGLITd 3 IDLMIG. 6 DheI(BHEHSHS
(PETT  ETETEMIEDLW  HHWS 24 QST
Bms&EUNg eerg s8asnsHl NpHsTET.
aeorg sGeMsMeG 9 awsns 2 erter Gumg),
ETENES 615SHEMEU CUUISTS S(HSHGSLD?

) 13 eugpLMmISET 2) 12 eu(BLMBIS6T
3 1 eupLMBIG6T 4) 10 eu(pHLMBIGH6T
9 epiisd WhmID Casiflesr auwgiseflei 618510
3 : 2 Gayb Siauiserfleir auwig eflsSungd 12
er6uflev, eLprgSufledt euuig) wing?

) 23 2 36

3 34 4) 35

10) umyefiledt QUG Di6uTS) LDS6Ull6tT aulLIENS el
2 DLMEIG. 4 QUBLHSERSGL LIDNG meurles
awgseflenr saBGse0 68 eefled, HHCUNTE
LD&6UTI60T 6ULLIG)| 6T60TE0T?
) 10
3 8

2 16
4) 20

6. Harshini’s Father is twice as old as her
brother. She is 7 years younger to her brother
but 3 years elder to her sister. If her sisteris
12 years of age, how old is her father?

1) 30 years
3) 45 years

2) 44 years
4) 50 years

7. Sachin is 4 years older than Anil. If the
sum of their ages is 20, then Sachin’s
presentageis.....

1) 14 years
3) 16 years

2) 12 years
4) 18 years

8. The age of my father is three times of my
age. Before 6 years my sister was born when
my father was 24 years old. If my sisteris 9
years old, what is my age?

1) 13 years
3) 11 years

2) 12 years
4) 10 years

9. Ratio to Moorthy’s age and Sekar’s age
is equal to 3: 2. Ifthe difference of their age
is 12. The age of Moorthy is?

1) 23 years
3) 34 years

2) 36 years
4) 35 years

10.Babu’s age twice as old as his son. If
the sum of their ages is 68 after 4 years.
The present age of the son is

2) 16
4) 20
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